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1 EXPRIME x
x.

2 ENTOURE 

x y z. (3 – 2 ) = 3xy xz xy z3 – 2 xz xy–2 + 3

d–(–2 ) =2 3 d2 6 d–8 6 d8 6

f g h–5 + (9 – 6 ) = f g h5 + 9 + 6 f g h–5 + 9 + 6 f g h–5 + 9 – 6

s t u–3 – (–3 – 2 ) = s t u–3 + 3 + 2 s t u–3 – 3 + 2 s t u–3 + 3 – 2

x x6 – = x x6 . . 6 x5

m n l(2 – 3 ) . (–5 ) = m nl2 + 15 m n l2 – 3 – 5 ml nl–10 + 15

p p4 . 2 =3 2 p8 5 p8 6 p6 5

a–( ) =4 2 a– 6 a– 8 a8

3 COMPLÈTE CORRIGE
x x–2 . 5 3 x4 

a b c(–2 ) . (5 – 3 ) ab + 3c 
x–(–2 )2 2   –4x4 

x z x(3 – 6 ) . (2 – 1)   6x  – 3x xz – 6z 
ab ab2 + 5   7a b  

4 ÉCRIS n )ŒZ .

5 COMPLÈTE

x x2 x3 –x2 –3x2 –3 . (–x)3

–1

2

– 3

10

C1

C2

=

=

fi ab7
fi x x xz z6 – 3 – 12 + 62

fi ab ac–10 + 6

n2

n3

n n4 ; 4 + 4
n5 + 2

n n2 + 1; 2 + 3

x x x x x x x x x x x x x2 + + + + 2 + + + 2 + + 2 + + = 16

1 –1 –1 –3 –3

4 8 –4 –12 24

9 –27 –9 –27

100 1 000 –100 –300 3 000

25 –125 –25 –75 –375
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6 CALCULE
a b c= –2 ; = 3 et = –1.

a–4 =3  
a–6 =2

a b2 + 3 =2

a b– – 2 =3  
c a–4 + 5 =2  

c ac6 – 5 =3  
bc a2 – 3 =2  
a b c– + – =2  

a b c–5 + 2 + =2 3  
a b c–4 + 3 + 5 =2 2 4  

7 EFFECTUE.
a a4 . 5 =3 4  
a b a b c6 . 4 =2 3 3  

a b a. . =723  
x y( . ) =4  

ab–(3 ) =2  

ab a–(3 ) . 5 =3 4  
x( ) =2 4  
b b( ) . ( ) =3 3 2 2  
a b( ) . ( ) =2 4 3 2  
a a(– . ) =3 2 5  

8 RÉDUIS

a a a a+ 3 + 2 – 7 = 
a b a b a+ + 2 – + 8 =2 2 2 2 2  

ab ab ab a b5 – 5 + 6 – 6 =2 2  
x y x2 . (–6 ) . (–4 ) =  

x x xy–3 + 3 – 3 =2  

y xy y xy6 – 5 + 9 – 12 = 

x x y(–5 ) . (–2) . (– ) . (– ) =2  

mn mn mn mn–3 + 5 + 6 – 12 =2 2  

a b ab–5 . (– ) . (–3 ) =  

a ab a ab–2 – 5 + 6 – 7 =2  

9 RÉDUIS

a–(6 ) =2  

abc a b c(2 ) . 5 =3 3 4  

x–(– ) =4 5  

ab a(4 ) . (–2 ) =2 3  

x xy. (– ) =2  

a a b. (– ) =3 2  

a b a–3 . (– ) . 2 =2 3 4  

a a a a–( . ) . ( . ) =2 2 3 2 3  

x y x yz( ) . 6 =3 4 2  

a b a–(–2 ) . (–3 ) =4 2 2 2 2  

–6 – 10 = –16
–6 – 12 = –18
2 + 9 + 1= 12

10 + 18 – 1= 27

–16 + 27 + 5 = 16

32
–24

8 + 9 = 17

–4 – 10 = –14

a20 7

a b c24 5 4

a b10 2

x8

b13

a b8 6x y4 4

a b–9 2 2

a b–135 7 3

a– 25

y xy15 – 17

x y10 2 2

mn mn3 – 72

a b–15 2 2

a ab ab4 – 5 – 7 2

a–

a11 2

ab ab a b11 – 5 – 62 2

x y48 2

x x xy–3 + 3 – 32

a–36 2

a b c40 6 7 4

x20

–128a b5 2

x y3 2

a b– 5

a b6 6 3

–a21

x y z6 7 2 2

a b–36 12 4
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10 SUPPRIME RÉDUIS

a a6 – (7 – ) =  
f d f f–9 – (–8 – 9 ) + = 
a b a b–(6 – 5 ) – (6 – 2 ) =  

m m n m n6 + (6 + 3 ) – (7 – 8 ) =  
a a–8 – (7 – 12) – (8 – 2) =  

a a a– – (4 + 2) – (–6 – 6) = 
d d d6 – (–8 – 2) – (5 + 8) = 
mn mn mn m n mn–3 + 2 – (6 – 8 ) – (6 + 10 ) =  

ab ab ab ab ab–( + ) – (6 + 7 ) – 8 =2 2 2  
op op p op op p–3 + (9 – 9 ) – 5 + (6 – 10 ) =  

11 EFFECTUE.
a5 . (2 + 9) = 

x x y2 . (3 + ) = 

a a b8 . (6 – 2 ) = 

d d e–8 . (–5 – 6 ) = 

ab a b5 . (6 + 3 ) = 

m n m(2 – 8 ) . (–2 ) = 

xy x y8 . (– + 9 ) = 

uv v u–7 . (– – 8 ) = 

ac ab bc–2 . (5 – 6 ) = 

a a b7 . (–2 – 7 ) =2 2  

12

 EXPRIME x, y et z.

3z

6x

4x

y

z

 EXPRIME x, y et z.

 EXPRIME x, y et z.

x y z

7a – 7
f d+ 8

a b–12 + 7
m n5 + 11

a6 – 15
a + 4

d9 – 6

mn m n–17 + 8 – 6
ab ab–15 – 82

op p7 – 19

a10   + 45

x xy6 + 22

a ab48 – 162

d de40 + 482

a b ab30 + 152 2

m mn–4 + 162

x y xy–8 + 722 2

uv u v7 + 562 2

a bc abc–10 + 122 2

–14a3 – 49a2b2

x z y20 + 12 + 4

x x z(6 + 4 ) .
2

 + y z x z x z xz yz xz xz xz yz2 . . 3 + 6 . 3 + 4 . 3 = 10 + 6 + 18 + 12 = 40 + 6

x x z(6 + 4 ) .
2

 . z xz z xz3 = 5 . 3 = 15 2

xz yz40 + 6 .
40 . 4 . 10 + 6 . 12 . 10 = 1 600 + 720 = 2 320

.
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13 EFFECTUE RÉDUIS

x x(3 2) . (3 – 5) =–  

a a(5 – 1) . (6 + 5) =  

n n(2 + 5) . (2 – 3) =2  

n n(5 + 2) . (5 – 2) = 

x x(–4 – 6) . (2 – 2) =2  

y y(–3 – 5) . (3 + 5) =2  

x x x(–2 + 5 ) . ( – 3 ) =2 2  

t t(–7 – 7) . (–3 – 6) =2  

y y(10 – 6 ) . (5 – 10) =2  
m m m(11 – ) . ( – 3) =2  

14 EFFECTUE RÉDUIS

x x(–6 + ) . (3 – ) = 
a a(–7 + ) . (–9 + ) =  

m m(3 + ) . (–6 – ) =  

k k(– + 6) . (– + 11) =  

t t( – 8) . ( + 8) =  
x x(–4 – 6) . (2 – 2) =2  
y y(–3 – 5) . (3 + 5) =2  

x x x(–2 + 5 ) . ( – 3 ) =2 2  
ab a b(–8 – 3) . (–4 – 2 ) =  
x x x(–3 – 5) . ( + 3 ) =2  

15 EFFECTUE et SIMPLIFIE

a a b+ 7 . (–2 ) =  
a a7 + 3 =3 2  
x x x x4 + 3 + 7 – 2 =2 2  

x x( + 5) + ( – 5) =  
b b–(– ) . (– ) =3  

a b ab a b7 + 3 + 5 =2 2 2  
x x x3 – ( + 3) =2  
a b c3 . 2 . . 5 = 
ab ab b a2 + . (2 – 3 ) = 
a ab–2 . (3 – 1) =2  

xy x y4 . (2 – 3 ) =2 2  
a b a b(2 – ) . (3 + 2 ) = 

a b a b(–4 + 3 ) . (–2 – 3 ) =2 2  

9x x – 6x x x

a a – 6a a a

n n n4 – 6 + 10 – 153 2

n n n n25 – 10 + 10 – 4 = 25 – 42 2

x x x–8 + 8 – 12 + 123 2

y y y–9 – 15 – 15 – 253 2

x x x x–2 + 6 + 5 – 152 4 3

t t t21 + 42 + 21 + 423 2

y y y50 – 100 – 30 + 603 2

m m m m11 – 33 – + 33 2 2 m m m= 11 – 34 + 33 2

x x x x x–18 + 6 + 3 – = –18 + 9 –2 2

a a a a a63 – 7 – 9 + = 63 – 16 +2 2

m m m m m–18 – 3 – 6 – = –18 – 9 –2 2

k k k k k– 11 – 6 + 66 = – 17 + 662 2

t t t t+ 8 – 8 – 64 = – 642 2

x x x–8 + 8 – 12 + 123 2

y y y–9 – 15 – 15 – 253 2

x x x x–2 + 6 + 5 – 152 4 3

a b ab a b32 + 16 + 12 + 62 2

x x x x x x x–3 – 9 – 5 – 15 = –3 – 14 – 153 2 2 3 2

abc30

a ab– 14
7a  + 3a 3 2

x x11 +2

x2
–b4

a b ab12 + 32 2

3x – x3 – 3x = –x3

ab ab a b2 + 2 – 32 2

a b a–6 + 23 2

x y xy8 – 123 3

a ab b6 + – 22 2

a a b ab b8 + 12 – 6 – 93 2 2 3
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mn n n m( – 2 ) . ( – 3 ) =2  
a a(–3(– )) . (–2 ) =0 2  

ab a b ab a b–(–2 ) – 3 – 3 – (–3 ) =2 2  

a a a– ( – 3) + (5 – ) = 

x x x2 + ( – 3) – ( + 2) = 
a a6 – (2 – 5) + (–2 + 4) =  

a–(– ) =2  

16 FACTORISE
a b6 + 6 =  

x7 – 14 = 

a b12 + 8 = 

mp mn9 – 3 = 

a ab24 + 36 =  

uv v17 – 51 =2  

ab a b121 – 11 =2 2  

ab bc8 – 32 = 

a ab9 + 81 =  

ab a12 + 3 =2  

ab bc20 + 5 = 

f ef16 + 32 =2  

fg g– 18 =2 2  

rs st25 – 75 = 

17 

JUSTIFIE. 

18 COMPLÈTE TRADUIS

Ton nombre Expression 
 littérale

C3

7mn  – 3m n n3

a–2 2

ab–
a8 –

x2 – 5
a–4 + 15

a– 2

a b6 . ( + )

x7 . ( – 2)

a b4 . (3 + 2 )
m p n3 . (3 – )

a b12 . (2 + 3 )

v u v17 . ( – 3 )
ab b a11 . (11 – )

b a c8 . ( – 4 )
a b9 . (1+ 9 )
a b a3 . (4 + )
b a c5 . (4 + )

f f e16 . ( + 2 )

g f. ( – 18)2

s r t25 . ( – 3 )

x x x( + 3) . ( – 3) + 10 – = 12

x

x

x

x x x

x x

x . x
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19

Étape 1

Étape 2

Étape 3

REPRÉSENTE

Étape 4

 COMPLÈTE

e) 3 4 …

Nombre  
) …

 TROUVE c
e

20

8

4e + 4 = c

c
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 CALCULE

 DONNE

UTILISE

21

Nombre 
de 
bonnes 
réponses 
(n)

1 2 3 4 6 7 8 9 10

Gain (g)

COMPLÈTE

n

e

n
n

n

n

n

 n =  
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22

 

 COMPLÈTE

 COMPLÈTE

Nombre 
n) 1 2 3 4 6 … 10 n

Nombre 

(r)
…

Nombre 
p) …

4 8 64 n

3 7 63 n
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23 e

 

e

p

e

e

e

 

24
 

 
 

 
 

CALCULE

e

n p

e
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DÉTERMINE

25

COMPLÈTE

n 1 2 3 4 ... 13 n

m ...

v ...

...

  DONNE

  DONNE

  DONNE
 

  VÉRIFIE

64

3 7 9

4 9

4 9

2 – 1=n m

( – 1) =2n v

=2n t

2 – 1+ ( – 1) = 2 – 1+ ( – 1) . ( – 1) = 2 – 1+ – – + 1=2 2 2n n n n n n n n n n
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M + N N M

Réponse

OMB 2017

Réponse

OMB 2017

x x

Réponse

OMB 2017

A B C 44 D 46 E 89

OMB 2017

n – 4 
n

A B n C n D n E n + 4

OMB 2016

Exercice 1 Exercice 4

Exercice 2

Exercice 3

Exercice 5

8


